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Section : English Language

Q.1 Select the most appropriate meaning of the given idiom.
Cutting corners

Ans 1. To take the long way around
2. To do something quickly or cheaply, often at the expense of quality or safety
3. To follow the rules strictly

4. To be honest and fair

Question ID : 264330143945
Status : Answered
Chosen Option : 2

Q.2 Parts of the following sentence have been given as options. Select the option that
contains an error.

He was that angry that he slammed the book on the table.
Ans 1. that he slammed the book

2. that angry
3. He was

4. on the table

Question ID : 264330144365
Status : Answered
Chosen Option : 2

Q.3 Select the most appropriate idiom for the given situation.
Shayam was accused of bribery, but he submitted proofs for his innocence.
Ans 1. Buying the pig in a poke
2. Cast pearls before they swine
3. Chapter and verse

4. Beating about the bush

Question ID : 264330144121
Status : Marked For Review
Chosen Option : 4




Q.4 Select the most appropriate synonym of the given word.
Requirement

Ans 1. Essential
2. Serious
3. Vague

4. Importance

Question ID : 264330141286
Status : Marked For Review
Chosen Option : 1

Q.5 Select the INCORRECTLY spelt word.

Ans 1. Mischievous
2. Monologe
3. Maintenance

4. Millionaire

Question ID : 264330143237
Status : Marked For Review
Chosen Option : 2

Q.6 Select the most appropriate synonym of the given word.

Callous
Ans 1. Inordinate

2. Compassionate
3. Insensitive

4. Unshackle

Question ID : 264330143144
Status : Marked For Review
Chosen Option : 1

Q.7 Select the most appropriate option that can substitute the underlined segment in the

given sentence.

Sujata has not and can never in the good books of her principal as she lacks honesty.

Ans 1. has not been and can never be
2. has not been and can never been
3. has not be and can never be

4. has not be and can never been

Question ID : 264330144098
Status : Not Answered
Chosen Option : --




Q.8 Select the option with the correct spelling that can replace the underlined word in the

given sentence.
The old building was damolished to make way for a new building.

Ans 1. demolished
2. demoleished
3. demonlished

4. demolaished

Question ID : 264330143125
Status : Answered
Chosen Option : 2

Q.9 Select the option that can be used as a one-word substitute for the given group of

words.
A lover of mankind

Ans 1. Misanthrope
2. Philanthropist
3. Narcissist

4. Lexicographer

Question ID : 264330143206
Status : Marked For Review
Chosen Option : 1

Q.10 Select the most appropriate option that can substitute the underlined words in the

given sentence.
The integration of cutting-edge technologies into the healthcare industry have the

prospect of revolutionising the way medical professionals provide patient care.

Ans 1. were the potential
2. have the potential
3. has the prospect

4. will have potential

Question ID : 264330147542
Status : Marked For Review
Chosen Option : 1

Q.11 Select the option that expresses the given sentence in active voice.
The tiger was killed on an unfortunate day by a hostile hunter.

Ans 1. A hostile hunter had killed the tiger on an unfortunate day.
2. A hostile hunter kills the tiger on an unfortunate day.
3. The tiger is killed by a hostile hunter on an unfortunate day.

4. A hostile hunter killed the tiger on an unfortunate day.

Question ID : 264330143040
Status : Marked For Review
Chosen Option : 2




Q.12 Select the option that correctly expresses the following sentence in passive voice.
Are you delivering the pizza?
Ans 1. Has the pizza delivered by you?
2. Were the pizza being delivered by you?
3. Will you deliver the pizza?

4. |s the pizza being delivered by you?

Question ID : 264330144331
Status : Marked For Review
Chosen Option : 1

Q.13 Select the most appropriate ANTONYM of the underlined word.
Our economies and societies as a whole need to become resilient to climate impacts.

Ans 1. intricate
2. lint
3. lapse

4. weak

Question ID : 264330143656
Status : Marked For Review
Chosen Option : 1

Q.14 Parts of a sentence are given below in jumbled order. Select the option that arranges
the parts in the correct order to form a meaningful sentence.

A.Between renunciation of the social world
B.The first point to note

C. And asceticism

D. Is the intimate link

Ans 1.A,C,B,D
2.B,D,A,C
3.A,B,C,D
4.B,C,D, A

Question ID : 264330142615
Status : Marked For Review
Chosen Option : 2

Q.15 Select the most appropriate synonym of the given word.
Deterioration
Ans 1. Retrogression
2. Demonstration
3. Malfunction

4. Ramification

Question ID : 264330143974
Status : Not Answered
Chosen Option : --




Q.16 Parts of a sentence are given below in jumbled order. Select the option that arranges
the parts in the correct order to form a meaningful sentence.

A.The fact that all members of the family were exposed
B.The waste of human resources and

C. To each other’s capricious minds had a debasing effect
D.On the vitality of society as a whole

Ans 1.A,C,D,B
2.B,A,D,C
3.D,A,C,B

4.B,A,C,D

Question ID : 264330142617
Status : Answered
Chosen Option : 4

Q.17 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
Laisha should holding / a meeting in the / Prem Auditorium / tomorrow evening.

Ans 1. Laisha should holding
2. Prem Auditorium
3. a meeting in the

4. tomorrow evening

Question ID : 264330149476

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.18 Choose the correct meaning of the underlined word in the given sentence.
The government is planning a new policy to help the immigrants coming from the
neighbouring country.

Ans 1. Someone who leaves one country to settle in another
2. Someone who goes to visit a new country for a short time
3. Someone who travels for work

4. Someone who travels to space

Question ID : 264330149741
Status : Marked For Review
Chosen Option : 2

Q.19 Select the most appropriate ANTONYM of the underlined word in the given sentence.
On the flight, | was in the company of an extremely chivalrous man.

Ans 1. Noble
2. Degraded
3. Virtuous

4. Courteous

Question ID : 264330143230

Not Attempted and
Marked For Review

Chosen Option : --

Status :




Q.20

Ans

Select the most appropriate synonym of the given word.
Objection

1. Moan

2. Disapproval

3. Counter

4. Sanction

Question ID : 264330144884
Status : Marked For Review
Chosen Option : 2

Q.21
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

Today, | want to talk to you about a very simple matter, that is, simple conversations. When
we learn to speak, (1) come words, then phrases, and then scripts. You would
agree that the larger the bundles of words we (2) , the less we have to worry about
combining them into sensible (3) . Also the less we have to fret over syntax or

(4) . Do you think you choose the words? Do you pre-rehearse every time you go
out? (5) what happens when you walk into a fast-food restaurant. My dear, how do
you react in those real life situations?

SubQuestion No : 21
Select the most appropriate option to fill in blank no. 1.
1. finally

2. hence
3. then

4. first

Question ID : 264330151104
Status : Answered
Chosen Option : 4

Q.22
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

Today, | want to talk to you about a very simple matter, that is, simple conversations. When
we learn to speak, (1) come words, then phrases, and then scripts. You would
agree that the larger the bundles of words we (2) , the less we have to worry about
combining them into sensible (3) . Also the less we have to fret over syntax or

4) . Do you think you choose the words? Do you pre-rehearse every time you go
out? (5) what happens when you walk into a fast-food restaurant. My dear, how do
you react in those real life situations?

SubQuestion No : 22
Select the most appropriate option to fill in blank no. 2.
1. ask around

2. bail out
3. look after

4. carry around

Question ID : 264330151105
Status : Not Answered
Chosen Option : --




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

Today, | want to talk to you about a very simple matter, that is, simple conversations. When
we learn to speak, (1) come words, then phrases, and then scripts. You would
agree that the larger the bundles of words we (2) , the less we have to worry about
combining them into sensible (3) . Also the less we have to fret over syntax or

4) . Do you think you choose the words? Do you pre-rehearse every time you go
out? (5) what happens when you walk into a fast-food restaurant. My dear, how do
you react in those real life situations?

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank no. 3.
Ans 1. executions

2. traits
3. expressions

4. criticism

Question ID : 264330151106
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

Today, | want to talk to you about a very simple matter, that is, simple conversations. When
we learn to speak, (1) come words, then phrases, and then scripts. You would
agree that the larger the bundles of words we (2) , the less we have to worry about
combining them into sensible (3) . Also the less we have to fret over syntax or

(4) . Do you think you choose the words? Do you pre-rehearse every time you go
out? (5) what happens when you walk into a fast-food restaurant. My dear, how do
you react in those real life situations?

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank no. 4.
Ans 1. dictates

2. hyperbole
3. exaggeration

4. grammar

Question ID : 264330151107
Status : Answered
Chosen Option : 4




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

Today, | want to talk to you about a very simple matter, that is, simple conversations. When
we learn to speak, (1) come words, then phrases, and then scripts. You would
agree that the larger the bundles of words we (2) , the less we have to worry about
combining them into sensible (3) . Also the less we have to fret over syntax or

4) . Do you think you choose the words? Do you pre-rehearse every time you go
out? (5) what happens when you walk into a fast-food restaurant. My dear, how do
you react in those real life situations?

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank no. 5.
Ans 1. Supplicate

2. Dramatise
3. Formerly display

4. Consider

Question ID : 264330151108
Status : Answered
Chosen Option : 3

Section : General Intelligence

Q1
Ans 1.
2.
3.
4. Question ID : 264330146733
Status : Answered
Chosen Option : 1
Q.2
Ans 1 QIN
2. MHC
3. KGL
4.
ADH Question ID : 264330152071

Status : Answered
Chosen Option : 1




Q.3

Ans 1.
2.
3.
4.,
Question ID : 264330147280
. Not Attempted and
Status - Marked For Review
Chosen Option : --
Q.4
Ans 1.
2.
3. Question ID : 264330147368
Not Attempted and
4. .
Status : Marked For Review
Chosen Option : --
Q.5
Ans 1. Two
2. Six
3.
4. .
Question ID : 264330146882

Status : Answered
Chosen Option : 1




Q.6

Ans 1.

Question ID : 264330146395
4. Status : Answered
Chosen Option : 2

Q.7
ANS 15320
2. 9876
3. 2243
4. 1824

Question ID : 264330146767
Status : Answered
Chosen Option : 2




Q.8

Ans
Question ID : 264330146312
Status : Answered
Chosen Option : 3
Q.9
Ans

Question ID : 264330147161
Status : Answered
Chosen Option : 4




Q.10

Ans 1.
2.
3. Question ID : 264330146702
4 Status : Answered
’ Chosen Option : 2
Q.11
Ans 1. 2
2.1
5. 7
Question ID : 264330147197
4.9 Status : Answered
Chosen Option : 2
Q.12
Ans 1%
2.
3.
Question ID : 264330146428
4. Status : Answered
Chosen Option : 4
Q.13
Ans 1.
2.
3.
4. Question ID : 264330147264

Status : Answered
Chosen Option : 1




Q.14

Ans 1.
2.
3. Question ID : 264330146967
. Not Attempted and
4. Status - Marked For Review
Chosen Option : --
Q.15
Ans 1.
2.
3.
4.
Question ID : 264330147504
. Not Attempted and
Status - Marked For Review
Chosen Option : --
Q.16
Ans 1.19:59
2.23:71
3.32:95
4.16-50 Question ID : 264330150905
) Status - Not Attempted and

Chosen Option :

Marked For Review




Q.17

Ans 1. 57
2. 87
3797
4. 57 Question ID : 264330147396
Status : Answered
Chosen Option : 3
Q.18
Ans 1. 81
2.
3. 9]
4. 08 Question ID : 264330146996
. Not Attempted and
Status : Marked For Review
Chosen Option : --
Q.19
Ans 1. 8
2. 11
3.0
4. 10

Question ID : 264330150523
Status : Answered
Chosen Option : 2




Q.20

Ans 1.

Question ID : 264330147404

4. Status : Not Attempted and
" Marked For Review

Chosen Option : --

Q.21

Ans 113-144

2.9-063
3. 8-48 Question ID : 264330152058
Status : Marked For Review
4. -
11-99 Chosen Option : 1
Q.22
Ans 1. Only conclusion I follows

2. Only conclusion II follows

Question ID : 264330147471
Status : Answered

4. Both conclusions I and 11 follow Chosen Option : 3

3. All conclusions I, II and III follow




Q.23 IMOP’ is related to ‘GILM in a certain way based on the English alphabetical order. In the same way, ‘EHIK’ is related
to ‘BEGH’. To which of the following is ‘DGI) related, following the same logic?

Ans 1 ADFG
2. ABEF

3. AEFI
Question ID : 264330150688

4. ADFI
Status : Not Answered
Chosen Option : --




Q.24

Ans

N
%

q
Vil/

AN
7]

Question ID : 264330146501
Status : Answered
Chosen Option : 2




Q.25

Ans 1.

Question ID : 264330146318
Status : Not Answered
Chosen Option : --

Section : Quantitative Aptitude

Q.1
Ans 1. B
2. A
3..C
4. D
Question ID : 264330147831
Status : Answered
Chosen Option : 3
Q.2
Ans 1.
2.
3.
4.

Question ID : 264330147751
Status : Not Answered
Chosen Option : --




Q.3

Ans 1. %25.000
2. 26,000
3. 327.000
4. 324,000 Question ID : 264330151372
Status : Not Answered
Chosen Option : --
Q.4
Ans 1.
2.
3. Question ID : 264330150550
Status : Answered
4. Chosen Option : 4
Q.5
Ans
1.
2.
3.
4. Question ID : 264330147829

Status : Not Answered
Chosen Option : --




Q.6

The given expression is equal to:

tan®@
secip
Ans 1 Sin?@cos@
2. Sin2@cot2@
3. cot?@cos2@
4. tan2@cos?@
Question ID : 264330150036
Status : Not Answered
Chosen Option : --
Q.7
Ans 1.
2.
3.
4,
Question ID : 264330147638
Status : Not Answered
Chosen Option : --
Q.8 . o o 4704
If a sind5°= B cosec30°, then a®/[* is:
Ans 1 44
2. 33
3. 23
4. 43

Question ID : 264330148442
Status : Not Answered
Chosen Option : --




Q.9

Ans 1.
2.
3.
4. Question ID : 264330147857
Status : Not Answered
Chosen Option : --
Q.10
Ans 1.
2.
3.
4,
Question ID : 264330146456
Status : Not Answered
Chosen Option : --
Q.11
Ans 1. 131
2. 141
3. 161
4.
Question ID : 264330147987
Status : Not Answered
Chosen Option : --
Q.12
Ans 1.
2.
3. 121°F
4, Question ID : 264330147977

Status : Not Answered
Chosen Option : --




Q.13

Ans

1.
2.
3.
4,
Question ID : 264330147641
Status : Not Answered
Chosen Option : --
Q.14
Ans 1.
2.
3.
4.
Question ID : 264330146436
Status : Not Answered
Chosen Option : --
Q.15
Ans 1. 450
2.
3.
4. :
Question ID : 264330148105
Status : Not Answered
Chosen Option : --
Q.16
Ans 1. 50
2. H5
3.
4. B3

Question ID : 264330146834
Status : Not Answered
Chosen Option : --




Q17 Find the value of cot? B —cosec? B for 0 <B < 90°,

Ans 1.1
2. 2
3 -1
4 =2
Question ID : 264330148900
Status : Not Answered
Chosen Option : --
Q.18
Ans 1.
2.
3.
4.
Question ID : 264330147968
Status : Not Answered
Chosen Option : --
Q.19
Ans 1.
2.
3.
4.
Question ID : 264330148085
Status : Not Answered
Chosen Option : --
Q.20
Ans 1.
2.
3.
4.

Question ID : 264330147823
Status : Not Answered
Chosen Option : --




Q.21

Ans 3
10
. 7
10
5 3
7
1 3
7
Question ID : 264330149331
Status : Not Answered
Chosen Option : --
Q.22
Ans - 2257250
- 32,725.50
- 22,527.50
- 22,275.50 Question ID : 264330148123
Status : Not Answered
Chosen Option : --
Q.23
Ans - 2x(5x - 3)
2. —(5x— 3)
S X(5x-3)
- —6xX(5x —3)

Question ID : 264330151138
Status : Not Answered
Chosen Option : --




Q.24

Ans 1.

Question ID : 264330148083
Status : Not Answered
Chosen Option : --

Q.25

Ans 1.3
2.1
3.0

Question ID : 264330148064
Status : Not Answered
Chosen Option : --

Section : General Awareness

Q.1
Ans 1.
2.
3.
4.,
Question ID : 264330149381
Status : Marked For Review
Chosen Option : 3
Q.2
Ans 1.
2.
3.
4 Question ID : 264330145803

Status : Not Answered
Chosen Option : --




Q.3

Ans
Question ID : 264330145826
. Not Attempted and
Status - Marked For Review
Chosen Option : --
Q.4
Ans
Question ID : 264330145778
Status : Marked For Review
Chosen Option : 4
Q.5
Ans
Question ID : 264330146558
Status : Marked For Review
Chosen Option : 4
Q.6
Ans

Question ID : 264330144472
Status : Marked For Review
Chosen Option : 2




Q.7

Ans 1. 45
2. 100

4 20 Question ID : 264330149210
’ Status : Marked For Review
Chosen Option : 2

Q.8

Ans 1. Tamil Nadu

3. Gujarat

4. Punjab
Question ID : 264330146258

Status : Marked For Review
Chosen Option : 1

Q.9

Ans 1.

3. 1US

Question ID : 264330146556
Status : Not Answered
Chosen Option : --

Q10 Gross primary deficit is equal to

Ans 1.

2. difference between total expenditure and total receipts
3.

4. difference between revenue deficit and capital expenditure

Question ID : 264330151264
Status : Marked For Review
Chosen Option : 3




Q.11

Ans

1 Amar Verma
Arvan Shah

N

Question ID : 264330154815

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q12 Which of the following was the capital of the Hindu Shahi kingdom?

Ans

1.
2. Lahore
3. Waihind
4. Multan
Question ID : 264330148553
stws oL Aemeted st
Chosen Option : --
Q.13
Ans 1.
2.
3.
4,
Question ID : 264330145795
s At ALemed ne
Chosen Option : --
Q.14
Ans 1.
2.
3.
4,

Question ID : 264330145983
Status : Marked For Review
Chosen Option : 4




Q.15

Ans L Calecutta
2. Bombay
3. Madras
4,
LEI_]’_'[{}I.’E Question ID : 264330150224
Status : Marked For Review
Chosen Option : 4
Q.16
Ans 1. a, b, C
2. Bothaandc
3. Bothaandb
4 Bothbandc
Question ID : 264330150812
Status : Not Answered
Chosen Option : --
Q.17
Ans 1.
2.
3.
4. Question ID : 264330145869
Status : Not Answered
Chosen Option : --
Q.18
Ans 1. 35.9%
2. 40.9%
3. 32%
4. 49%

Question ID : 264330149634

. Not Attempted and
Status - Marked For Review

Chosen Option : --




Q.19

Ans 1 Punjab
2. Odisha
3.
4. Harvyana
Question ID : 264330146292
Status : Not Answered
Chosen Option : --
Q.20
Ans 1
2.
3.
4,
Question ID : 264330145863
Status : Marked For Review
Chosen Option : 1
Q.21
Ans 1.
2.
3.
4,

Question ID : 264330145690
Status : Answered
Chosen Option : 2




Q.22

Ans

Question ID :
Status :
Chosen Option :

264330149391
Marked For Review
4

Q23 Which of the following states has the National Academy of Sciences?

Ans L. Uttarakhand
2. Telangana
3.
4. Karnataka
Question ID : 264330150387
. Not Attempted and
Status : Marked For Review
Chosen Option : --
Q.24
Ans 1.
2.
3.
4.
Question ID : 264330145644
. Not Attempted and
Status - Marked For Review
Chosen Option : --
Q.25
Ans 1
2.
3.
4.

Question ID :
Status :

Chosen Option :

264330144687

Not Attempted and
Marked For Review
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